#13921 FIRST AMENDMENT TO AGREEMENT FOR ANNUAL LAWN MAINTENANCE NW/SW LANDFILLS AND RCC NO. 13921

THIS FIRST AMENDMENT ("Amendment") is made by and between Alachua County, Florida, a political subdivision and charter county of the State of Florida, by and through its Board of County Commissioners (the "County") and Boone Improvements Inc, a Florida for Profit Corporation which is authorized to do business in the State of Florida ("Contractor"), who are collectively referred to as the "Parties".

WITNESSETH:

WHEREAS, the Parties previously entered into an Agreement for Annual Lawn Maintenance at Northwest and Southwest Landfills and Rural Collection Centers dated September 28, 2023, identified by No. 13921 (the "Agreement"); and

WHEREAS, the Parties desire to amend the Agreement to update and correct the Rate Schedule contained in Exhibit 2 of the Agreement.

NOW, THEREFORE, the County and Contractor agree to amend the Agreement as follows:

- A. <u>Amendment</u>. Exhibit #2, of the Agreement titled "Rate Schedule" is amended in its entirety and replace with the updated Exhibit 2 attached to this Amendment.
- B. <u>Effective Date</u>. This Amendment shall be effective upon execution by both Parties.
- C. <u>Original Agreement</u>. Unless expressly amended herein, all other terms and provisions of the original Agreement between the Parties, including any prior amendments to the Agreement, shall be and remain in full force and effect. In the event any of the prior amendments to the Agreement conflict with this Amendment, the provisions of this Amendment shall prevail.

REMAINDER OF PAGE INTENTIONALLY LEFT BLANK

IN WITNESS WHEREOF, the Parties have caused this Amendment to be executed on the day and year below written.

ALACHUA COUNTY, FLORIDA

| | By: |
|--------------------------------------|----------------------------------|
| | Mary C. Alford, Chair |
| | Board of County Commissioners |
| | Date: |
| ATTEST | APPROVED AS TO FORM |
| T.K. "Jess" Irby, Esq., Clerk (SEAL) | Alachua County Attorney's Office |
| | CONTRACTOR |
| | By: Don't |
| | Print: PONTE |
| | Date: 2222774 |

IF THE CONTRACTOR IS NOT A NATURAL PERSON, PLEASE PROVIDE A CERTIFICATE OF INCUMBENCY AND AUTHORITY, OR A CORPORATE RESOLUTION, LISTING THOSE AUTHORIZED TO EXECUTE AGREEMENTS ON BEHALF OF YOUR ORGANIZATION. IF ARE A NATURAL PERSON, THEN YOUR SIGNATURE MUST BE NOTARIZED.

EXHIBIT 2: RATE SCHEDULE

| | Revised Prices | #of events | cost/event |
|--|----------------|------------|------------|
| Task 1 Southwest Landfill | | , | , |
| Mow landfill cells, sump, flare and leachate plant | 22,474.90 | 7 | \$3,210.70 |
| Mow retention ponds (P1-P5) storm water facilities, and waste tire area | 1,945.60 | 2 | \$972.80 |
| Trim around gas well/vents, bollards and valves on Class I and Class III flare station, sump, leachate plant, condensate collection containeers monitor wells and gas probes | 11,638.90 | 7 | \$1,662.70 |
| Mow around trailers old mulch area and north of Class I cell (approximately 10 acres) | 714.00 | 2 | \$357.00 |
| Task 1 Total | 36,773.40 | | |
| Task 2 Northwest Landfill | | | |
| Mow 55 acres and trim around ten wells | | | |
| Task 2 Total | 13,174.00 | 7 | \$1,882.00 |
| Task 3 Northeast and Northeast Auxiliary Lawn Maintenance | | | |
| Mow Access roads two times per year | 1,315.00 | 2 | \$657.50 |
| Trim around 55-monitor wells twice a year | 1,315.00 | 2 | \$657.50 |
| Task 3 Total | 2,630.00 | | |
| Task 4 Collection Centers | | | |
| Archer Collection Center | 2,926.00 | 19 | \$154.00 |
| Alachua/High Springs Rural Collection Center | 2,926.00 | 19 | \$154.00 |
| Fairbanks Collection Center | 2,926.00 | 19 | \$154.00 |
| North Central Collection Center | 2,926.00 | 19 | \$154.00 |
| Phifer Collection Center | 2,926.00 | 19 | \$154.00 |
| Task 4 Total | 14,630.00 | | |
| GRAND TOTAL | 67,207.40 | | |